EPIDEMIOLOGY

Urban-rural differences in breast cancer incidence by hormone receptor status across 6 years in Egypt

Subhojit Dey · Amr S. Soliman · Ahmad Hablas · Ibrahim A. Seifeldin · Kadry Ismail · Mohamed Ramadan · Hesham El-Hamzawy · Mark L. Wilson · Mousumi Banerjee · Paolo Boffetta · Joe Harford · Sofia D. Merajver

Received: 16 February 2009/Accepted: 21 May 2009/Published online: 23 June 2009 © Springer Science+Business Media, LLC. 2009

Abstract Breast cancer incidence is higher in developed countries with higher rates of estrogen receptor positive (ER+) tumors. ER+ tumors are caused by estrogenic exposures although known exposures explain approximately 50% of breast cancer risk. Unknown risk factors causing high breast cancer incidence exist that are estrogenic and development-related. Xenoestrogens are such risk factors but are difficult to study since developed countries lack unexposed populations. Developing countries have urban–rural populations with differential exposure to xenoestrogens. This study assessed urban–rural

S. Dey · A. S. Soliman (⊠) · M. L. Wilson
Department of Epidemiology, School of Public Health,
University of Michigan, 109 Observatory Street, Ann Arbor,
MI 48109, USA
e-mail: asoliman@umich.edu

A. Hablas · K. Ismail Gharbiah Cancer Society, Tanta, Gharbiah, Egypt

I. A. Seifeldin \cdot M. Ramadan \cdot H. El-Hamzawy Tanta Cancer Center, Tanta, Gharbiah, Egypt

M. Banerjee

Department of Biostatistics, School of Public Health, University of Michigan, 109 Observatory Street, Ann Arbor, MI, USA

P. Boffetta

International Agency for Research on Cancer, 150 cours Albert Thomas, Lyon, France

J. Harford Office of International Affairs, National Cancer Institute, Bethesda, MD, USA

S. D. Merajver

University of Michigan Comprehensive Cancer Center, 1500 East Medical Center Drive, Ann Arbor, MI, USA breast cancer incidence classified by hormone receptor status using data from Gharbiah population-based cancer registry in Egypt from 2001 to 2006. Urban ER+ incidence rate (per 100,000 women) was 2–4 times (IRR = 3.36, 95% CI = 4.84, 2.34) higher than rural incidence rate. ER-incidence rate was 2–3 times (IRR = 1.86, 95% CI = 2.38, 1.45) higher in urban areas than in rural areas. Our findings indicate that urban women may probably have a higher exposure to xenoestrogens.

Keywords Breast cancer incidence · Hormone receptor status · Mammary stem cells · Xenoestrogens · Egypt

Introduction

Breast cancer incidence differs across various populations with higher incidence rates in developed countries [1]. However, breast cancer is not a homogeneous disease and there are various subtypes of this malignancy. One of the important ways of dividing breast cancer into subtypes is by using hormone receptor status (HRS) [2]. The need to develop these subtypes of breast cancer arose due to their differential response to different modes of therapy [3]. Presence of estrogen receptors (ERs) and progesterone receptors (PRs) or ER+/PR+ or hormone receptor positive (HR +) breast cancer, implies the best response to antiestrogen therapy whereas absence of these receptors or ER-/PR- or hormone receptor negative (HR-) breast cancer, implies poor response to anti-estrogen therapy. These differences are more pronounced if we take into account only the ER status of tumors [3]. The natural history of disease between ER+ and ER- tumors also varies with better prognosis overall for ER+ patients and with different sites and time periods of relapse [4]. Epidemiological analysis of breast cancer by HRS shows distinct patterns for ER+ and ER- cancers. Risk factor distribution differs among patients based on HRS with reproductive factors that increase a woman's lifetime exposure to endogenous estrogens resulting in ER+ cancer [5, 6]. Other risk factors such as genetic risks, radiation, and smoking give rise to ER- cancers [5, 7]. Overall, these differences imply that ER+ and ER- cancers denote different subtypes of breast cancer with different risk factors, clinical pictures, and outcomes [3].

Another characteristic difference of ER+ and ERtumors is the close correlation of ER+ incidence with populations having high breast cancer incidence. Studies involving the Surveillance Epidemiology and End Results (SEER) show ER+ cancers to be more frequent after menopause [8, 9] and more common among Caucasians than other races [10–12]. In addition, international studies have clearly indicated that ER+ breast cancer is higher in developed countries [13]. To add to these population trends Li et al. [14] have shown that most of the increase in breast cancer incidence in US has been due to an increase in ER+ breast cancer.

Thus, existing evidence suggests that ER+ cancer is high and increasing in the industrialized parts of the world mainly due to risk factors that are estrogenic in nature. However, most of the hereditary and environmental risk factors of breast cancer explain only up to 50% of breast cancer risk [15, 16]. This implies that other unknown estrogenic risk factors increase the risk of breast cancer, mostly later in life. Such estrogenic risk factors related to industrial development are a diverse group of chemicals called xenoestrogens. These xenoestrogens include chemicals in plastics such as bisphenol-A (BPA), phthalates and polyvinyl chloride (PVC), pesticides and insecticides like DDTs, polychlorinated biphenyls (PCBs), parabens and placental extracts in cosmetics, aromatic amines, industrial solvents like benzene and toluene, and air pollutants such as polyaromatic hydrocarbons (PAHs) [17]. It is apparent xenoestrogens pervade almost all areas of modern life in developed parts of the world [17].

There is increasing evidence that xenoestrogens are related to breast cancer [17, 18] and primarily cause ER+ breast cancer [19–21]. However, studies in humans have been inconclusive and an important reason has been the lack of comparison between populations differentially exposed to xenoestrogens since in developed countries exposure to xenoestrogens seems widespread [22]. Studies examining xenoestrogens in the blood and urine of individuals in US and other developed countries have found that more than 90% of the population had been exposed to xenoestrogens [23–25]. However, populations differentially exposed to xenoestrogens are available in developing

countries e.g., in urban and rural areas. Numerous studies from various countries have shown higher presence and exposure to xenoestrogens in urban areas [26–30]. Since urban populations are more exposed to xenoestrogens, we hypothesize that they have higher incidence of breast cancer and ER+ cancer compared with rural areas. We have recently published these hypotheses [31] and have already shown that incidence of breast cancer is indeed higher in urban areas than rural areas in Egypt [unpublished data]. The purpose of this study was to investigate the urban–rural differences in HRS-specific breast cancer incidence in the same population as the previous study.

Materials and methods

Study population

The study population consisted of women diagnosed with primary breast cancer with known ER or PR status for a period of 6 years (2001-2006), from the Gharbiah population-based cancer registry, Tanta, Egypt. Overall, we considered 3,673 cases for our study but had to exclude cases with missing ER and PR information from the respective analyses. ER and PR information was not routinely entered in the registry database especially for the years 2001-2004. Therefore, for all cases lacking this information, medical records were obtained from Tanta Cancer Center (TCC), Gharbiah Cancer Registry (GCS) and any other centers for which medical records were available. Cases' registry number, age at diagnosis, address, address code, smoking status, occupation, basis of diagnosis, estrogen receptor status, progesterone receptor status, tumor grade, stage, morphology, medical record number, and place of reference were abstracted from the routinely collected registry data. Use of human subject data was approved by the University of Michigan Institutional Review Board and the Gharbiah Cancer Center Ethics Committee.

Gharbiah population-based cancer registry

The Gharbiah population-based cancer registry was founded in 1998 as a part of the Middle East Cancer Consortium (MECC) [32]. As an active registry, it collects cases from a number of sources in the province. Most of the breast cancer cases came from TCC (40–50%), GCS (10– 12%) and Tanta University Hospital (10–12%). Following abstraction of data, it is entered on the International Agency for Research on Cancer (IARC) software Can-Reg4. Registry staff was trained in data extraction and entry, and is periodically monitored by site visits from the faculty of Emory School of Public Health, IARC, and the MECC registry Steering Committee members.

Most of the cases (95.8%) were diagnosed by pathological confirmation [33]. The World Health Organization (WHO) ICD-02 coding was used to determine the types of cancer in 1999 and 2000 after which ICD-03 coding was used. Cases were registered with SEER staging information from 1999 to 2002 and the American Joint Committee on Cancer (AJCC) staging was begun in the registry only from 2003, although records for patients were retrieved and all previous SEER staging was replaced by AJCC staging by determining the TNM status of breast cancer for these patients.

ER and PR determination

ER and PR status was determined by immunohistochemistry (IHC) in all the centers providing cases to the registry. Paraffin sections of tissues are boiled in 10 mM citrate buffer for 10–20 min followed by cooling at room temperature for 20 min. Monoclonal antibodies for ER and PR are then added to separate tissue sections and incubated for 30 min followed by visualization. The percentage of stained cells and strength of staining determines the score of positivity for ER and PR (1 +, 2 + or 3 +) with presence of stain in <1% cells or weak staining implying receptor negative status [34]. For our analyses, we dichotomized the HRS into either positive or negative.

Gharbiah province

Gharbiah province is an administrative region located 90 km north of Cairo in the Nile Delta Region. It has eight districts each with a capital city with Tanta being the capital of Tanta district as well as of the entire province. Gharbiah has a population of more than four million people and 49% of them are women. Approximately, 30% of the population resides in urban areas and almost 47% of the female population are below the age of 20 according to the 2006 Central Agency for Public Mobilization and Statistics (CAPMAS) census.

Census data

Census data for female population in Gharbiah were obtained from the 1996 and 2006 CAPMAS [35] census and constant growth of the population was assumed to predict population estimates for the years in-between using a linear regression model. The linear growth rates of eight districts were applied to the urban and rural populations within those districts to determine urban and rural populations from 1999 through 2006. The census data consisted of 16 age categories at 5-year intervals. Six age categories

were created from these by collapsing the age categories below 29 years followed by 10-year intervals. These population figures formed the denominators to calculate the overall, age-specific, and urban–rural incidence rates for breast cancer in women.

Urban-rural classification

The urban–rural classification followed the CAPMAS coding of urban and rural areas [35]. Urban areas consisted of all the capital cities of the eight districts of the province while the villages surrounding the capital cities and villages in rest of the district were considered rural. Each case in the registry is assigned a residence code based on their residential address that follows the CAPMAS coding. This code was used to classify patients as urban or rural.

Statistical analyses

Descriptive statistics and incidence rate analyses were completed using SAS (Version 9; SAS Institute, Cary, NC). Yearly crude and age adjusted incidence rates for breast cancer were calculated for Gharbiah province and six age categories classified by urban and rural areas for the province and each age category. The six age categories were 0-29, 30-39, 40-49, 50-59, 60-69, and 70 or more. We stratified our analyses by HRS, specifically assessing separately, the rates of ER+, ER-, PR+, PR-, ER+/ PR+, ER+/PR-, ER-/PR+, and ER-/PR- tumors. Women with ER or PR status that were unknown or could not be assessed were excluded from the analyses. We computed the proportion of women with a particular HRS (among those with known hormone status) by year of incidence, age group, and urban-rural status. We then calculated urban-rural incidence, and incidence rate ratios (IRRs) and 95% confidence intervals (CI) using negative binomial regression. We considered age, stage, and year of diagnosis as potential confounders in our analysis. We also evaluated how the incidence of a given HRS changed over time using P-values for trends.

Results

Among the 3,673 cases which were a part of this study, 61.83% were urban (Table 1). Most of the cases presented at Stage II (26.9%) or Stage III (33.24%). Most of these cases had been diagnosed microscopically (histology of the primary—77.14% or FNAC—17.25%).

ER status was known for 47.63% of cases and PR status was known for 37.19% of cases overall (Table 2). The proportion and incidence of cases with unknown ER and

Table 1 Characteristics ofbreast cancer cases in Gharbiah,Egypt, 2001–2006	Variable	Descriptive category	Urban no. (%)	Rural no. (%)	Overall no. (%)
	Total cases		2,271 (61.83)	1,402 (38.17)	3,673 (100)
	Year of diagnosis	2001	378 (65.51)	199 (34.49)	577 (15.71)
	-	2002	431 (69.40)	190 (30.60)	621 (16.91)
		2003	349 (58.17)	251 (41.83)	600 (16.34)
		2004	388 (60.44)	254 (39.56)	642 (17.48)
		2005	347 (59.22)	239 (37.71)	586 (15.95)
		2006	378 (58.42)	269 (37.71)	647 (17.62)
	Age-groups	0–24	10 (52.63)	9 (47.37)	19 (0.52)
		25-29	36 (52.94)	32 (47.06)	68 (1.85)
		30–34	111 (57.81)	81 (42.19)	192 (5.23)
		35–39	195 (53.72)	168 (46.28)	363 (9.88)
		40-44	335 (58.88)	234 (41.13)	569 (15.49)
		45-49	397 (63.72)	226 (36.28)	623 (16.96)
		50-54	409 (65.02)	220 (34.98)	629 (17.13)
		55–59	277 (61.83)	171 (38.17)	448 (12.20)
		60–64	217 (64.78)	118 (35.22)	335 (9.12)
		65–59	135 (67.84)	64 (32.16)	199 (5.42)
		70+	139 (63.76)	79 (36.24)	218 (5.94)
	Stage*	Ι	75 (63.56)	43 (36.44)	118 (3.21)
		II	586 (59.31)	402 (40.69)	988 (26.90)
*26.14% of cases had missing		III	713 (58.40)	508 (41.61)	1,221 (33.24)
or unknown AJCC stage		IV	192 (49.74)	194 (50.26)	386 (10.51)
information	Basis of diagnosis [†]	Histology	1,560 (60.56)	1,016 (39.44)	2,576 (77.14)
[†] 13.04% of cases had missing		FNAC	331 (65.81)	172 (34.19)	503 (17.25)
diagnosis		Others	76 (66.09)	39 (33.91)	115 (5.61)

PR status were almost similar for all years. Among all cases, overall 32.82% were ER+, and 14.82% were ER-. Among all cases, overall 21.55% were PR+ and 15.62% were PR-. The average incidence of ER+ cancer was the highest (10.92 per 100,000 women) followed by PR+ cancer (7.18 per 100,000 women), PR- cancer (5.18 per 100,000 women), and ER- cancer (4.93 per 100,000 women) (Table 2). Distribution of cases by joint HRS shows that overall ER+/PR+ cancer had the highest incidence (6.44 per 100,000 women) followed by ER-/PRcancer (3.74 per 100,000 women). The incidence of ER+/ PR- cancer was low (1.44 per 100,000 women) followed by the lowest incidence of ER-/PR+ cancer (0.73 per 100,000 women) (Table 3). The proportion (average-62.89%) and incidence (average-20.88 per 100,000 women) of cases with unknown ER/PR status remained almost constant throughout the years. We did not see any noticeable trends in the incidence of breast cancer by HRS as shown by P-values for trend.

Urban distribution of HRS shows that ER+ incidence was the highest followed by PR+ positive incidence within both urban and rural areas (Table 4). ER- and PR- rates were quite similar within both urban and rural areas. On comparison of urban and rural incidences, ER+ incidence in urban areas was 2-4 times higher than ER+ incidence in rural areas (overall IRR = 3.36, 95%CI = 2.34, 4.84) (Table 4). Following this PR+ incidence was 2-4 times higher in urban areas than in rural areas (overall IRR = 2.29, 95% CI = 1.70, 3.70). ER-(overall IRR = 1.86, 95% CI = 1.45, 2.38) and PR-(overall IRR = 1.89, 95% CI = 1.60, 2.24) (Table 4) incidence were almost 2-3 times higher in urban than in rural areas.

Urban-rural distribution of joint HRS showed that ER+/ PR+ cancer incidence in urban areas was highest, being 2-4 times that in rural areas (overall IRR = 2.33, 95%CI = 1.68, 3.23 (Table 4). ER - /PR - cancer was also 1-3times higher in urban areas than rural areas (2,001 overall IRR = 1.72, 95% CI = 1.28, 2.32) (Table 5). ER+/PRand ER-/PR+ cases were very few and therefore they were not included in further analysis in Table 5.

Age-specific distribution of breast cancer incidence by HRS showed higher incidence for all receptors in urban areas when compared with rural areas (Table 4) (Fig. 1). Within urban areas ER+ incidence was the highest in all age-groups followed by PR+ incidence. ER- and PR-

Table 2 Distribution of number, percentage and overall incidence* of breast cancer by hormone receptor status in Gharbiah, 2001-2006

Year	ER+			ER-	-		ER un	known		PR+	-		PR-			PR un	known	
	No.	%	Inc*	No.	%	Inc*	No.	%	Inc*	No.	%	Inc*	No.	%	Inc	No.	%	Inc*
2001	188	32.58	10.37	68	11.79	3.75	321	55.63	17.70	111	19.24	6.12	98	16.98	5.40	368	63.78	20.29
2002	172	27.70	9.33	92	14.81	4.99	357	57.49	19.36	98	15.78	5.31	99	15.94	5.37	424	68.28	22.99
2003	187	31.17	10.19	100	16.67	5.45	313	52.17	17.06	130	21.67	7.09	109	18.17	5.94	361	60.17	19.68
2004	192	29.45	10.26	91	13.96	4.86	369	56.60	19.71	120	18.41	6.41	86	13.19	4.59	446	68.41	23.83
2005	180	30.72	9.77	86	14.68	4.67	320	54.61	17.37	121	20.65	6.57	81	13.82	4.40	384	65.53	20.84
2006	293	45.29	15.62	110	17.00	5.86	244	37.71	13.01	217	33.54	11.57	101	15.61	5.38	328	50.70	17.49
Overall	1212	32.82	10.92	547	14.82	4.93	1,924	52.37	17.37	797	21.55	7.18	574	15.62	5.18	2,311	62.81	20.85
<i>P</i> for trend [†]			0.93			0.91			0.95			0.98			0.99			0.91

*All incidences are per 100,000 women

[†] Adjusted for stage and year of diagnosis

Table 3 Distribution of number, percentage and overall incidence* of breast cancer by joint hormone receptor status in Gharbiah, 2001–2006

Year	ER+	-/PR+		ER+	-/PR-		ER-	-/PR+		ER-	/PR-		ER/PR	unkno	wn
	No.	%	Incidence*	No.	%	Incidence*									
2001	105	18.20	5.79	39	6.76	2.15	6	1.04	0.33	58	10.52	3.20	369	63.95	20.34
2002	86	13.85	4.66	27	4.35	1.46	12	1.93	0.65	72	11.59	3.90	424	68.28	22.99
2003	118	19.67	6.43	27	4.50	1.47	12	2.00	0.65	82	13.67	4.47	361	60.17	19.68
2004	111	17.03	5.93	14	2.15	0.75	9	1.38	0.48	72	11.04	3.85	446	68.41	23.83
2005	105	17.92	5.70	16	2.73	0.87	16	2.73	0.87	65	11.09	3.53	384	65.53	20.84
2006	190	29.37	10.13	36	5.56	1.92	26	4.02	1.39	65	10.05	3.47	330	51.01	17.59
Overall	715	19.34	6.44	159	4.34	1.44	81	2.18	0.73	414	11.25	3.74	2,314	62.89	20.88
P for trend [†]			0.98			0.87			0.98			0.97			0.91

*All incidences are per 100,000 women

[†] Adjusted for stage and year of diagnosis

cancer incidence was almost similar. Within rural areas, the incidence of all four receptor types was almost similar with slightly higher incidence for ER+ and PR+ in 2006. Comparison of urban-rural incidences showed that the incidence of all HRS was higher in urban areas than rural areas for all age-groups with the urban incidence of ER+ cancer being the highest in all age-groups (Table 4). Age-specific distribution of breast cancer incidence by joint HRS showed that ER+/PR+ cancer incidence was the highest in urban areas (Table 5) (Fig. 2) in most age-groups. Within rural areas, ER+/PR+ and ER-/PR- cancer incidence was almost similar except in 2006.

Discussion

This is the first study, from a population-based cancer registry in a developing country, to show a higher incidence rate of ER+ breast cancer in urban areas compared with rural areas. This study confirms earlier findings that

populations with higher breast cancer incidence also demonstrate higher ER+ incidence. This pattern is visible both in comparison of HRS incidence and age-specific incidence classified by HRS. The reasons for higher incidence of ER+ cancer in urban areas are multi-factorial. It is quite possible that women in urban areas have better nutrition and development which leads to early menarche. They might be more educated resulting in higher age of marriage, lesser number of children, and reduced breastfeeding [36]. All of these reproductive factors result in higher lifetime exposure of women to endogenous estrogens and thus can increase ER+ cancer. Although in the context of Egypt, we found that the urban-rural differences among women in terms of nutritional status, age of first childbirth, and amount of breastfeeding were minimal as indicated by the Egyptian Demographic Health Survey [37].

In addition, we have also shown in our recent study that breast cancer incidence is 3–4 times higher in urban areas of Egypt and this cannot be explained by known reproductive risk factors [unpublished data], a fact that has also been seen

Years	Urban–rural	incidence and inc	sidence ratios						
	Age-groups	(Years)							
	0-29			30–39			40-49		
	Urban	Rural	Urban-rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)
ER+									
2001	0.59	0.12	4.80 (0.44, 52.99)	22.4	5.85	3.80 (1.77, 8.17)	59.17	17.76	3.33 (1.96, 5.65)
2002	0.58	0.24	2.40 (0.34, 17.05)	21.91	5.76	3.80 (1.77, 8.17)	50.99	10.83	4.71 (2.49, 8.90)
2003	1.15	0.24	4.80 (0.88, 26.23)	16.99	7.36	2.31 (1.10, 4.85)	54.40	17.19	3.16 (1.86, 5.39)
2004	0.00	0.23	0.00	12.23	8.34	1.47 (0.67, 3.19)	66.05	16.07	4.11 (2.44, 6.94)
2005	0.88	0.12	7.21 (0.75, 69.29)	23.05	1.73	13.33 (3.96, 44.87)	42.24	19.15	2.21 (1.28, 3.81)
2006	0.86	0.24	3.60 (0.60, 21.57)	22.64	10.75	2.11 (1.12, 3.94)	87.26	40.08	2.18 (1.49, 3.17)
ER-									
2001	0.59	0.12	4.80 (0.44, 52.99)	5.85	3.51	1.67 (0.51, 5.46)	19.23	15.23	1.26 (0.62, 2.58)
2002	0.58	0.36	1.60 (0.27, 9.58)	12.68	7.49	1.69 (0.76, 3.78)	20.39	7.50	2.72 (1.18, 6.29)
2003	0.57	0.12	4.80 (0.44, 52.99)	10.20	7.36	1.38 (0.59, 3.24)	20.04	14.73	1.36 (0.68, 2.73)
2004	0.28	0.35	0.80 (0.08, 7.70)	8.90	4.45	2.00 (0.75, 5.33)	25.30	13.66	1.85 (0.95, 3.59)
2005	0.29	0.12	2.40 (0.15, 38.41)	6.92	2.88	2.40 (0.73, 7.86)	20.39	10.83	$1.88 \ (0.89, 4.01)$
2006	0.57	0.00	1	4.53	3.40	1.33 (0.38, 4.73)	32.90	15.54	2.12 (1.15, 3.89)
PR+									
2001	0.00	0.12	0.00	16.39	3.51	4.67 (1.79, 12.14)	28.11	11.00	2.56 (1.26, 5.18)
2002	0.29	0.24	1.20 (0.11, 13.25)	11.53	2.31	5.00 (1.57, 15.94)	30.59	8.33	3.67 (1.73, 7.80)
2003	0.86	0.12	7.21 (0.75, 69.29)	12.46	6.80	1.83 (0.81, 4.16)	38.65	13.10	2.95 (1.59, 5.48)
2004	0.00	0.23	1	8.90	5.00	1.78 (0.69, 4.61)	44.97	10.45	4.31 (2.26, 8.20)
2005	0.58	0.12	4.80 (0.44, 52.99)	13.83	0.58	24.00 (3.12, 184.59)	24.76	14.16	1.75 (0.89, 3.43)
2006	0.86	0.24	3.60 (0.60, 21.57)	13.59	7.92	1.71 (0.79, 3.71)	68.66	26.99	2.54 (1.63, 3.96)
PR-									
2001	0.89	0.12	7.21 (0.75, 69.29)	5.85	5.85	1.00(0.34, 2.93)	28.11	18.61	1.51 (0.82, 2.79)
2002	0.58	0.36	1.60 (0.27, 9.58)	11.53	8.07	1.43 (0.63, 3.22)	17.48	7.50	2.33 (0.98, 5.53)
2003	0.57	0.24	2.40 (0.34, 17.05)	9.06	7.36	1.23 (0.51, 2.97)	20.04	13.91	1.44 (0.71, 2.92)
2004	0.28	0.35	0.80 (0.08, 7.70)	6.67	5.00	1.33 (0.47, 3.75)	25.30	15.27	1.66(0.87, 3.16)
2005	0.29	0.12	2.40 (0.15, 38.41)	5.76	2.88	2.00 (0.58, 6.91)	13.11	11.66	1.12 (0.49, 2.60)
2006	0.00	0.00	I	9.06	3.40	2.67 (0.93, 7.69)	30.04	16.36	1.84 (1.00, 3.39)

Table 4 Urban-rural incidence rates* and incidence ratios of breast cancer by ER/PR status, by age-groups and overall in Gharbiah, 2001–2006

Table 4 continued												
Years	Urban–r	rural incic	dence and incidence ratios							Overall		
	Age-gro	ups (year	rs)									
	50-59			69-09			+02					
	Urban	Rural	Urban–rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)
ER+												
2001	101.55	33.33	3.05 (1.83, 5.08)	60.75	15.47	3.93 (1.67, 9.26)	72.10	7.51	9.60 (2.04, 45.19)	19.88	5.56	3.58 (2.65, 4.82)
2002	97.36	21.88	4.45 (2.48, 8.00)	63.81	24.75	2.58 (1.24, 5.36)	44.37	14.80	3.00 (0.81, 11.17)	18.24	4.77	3.83 (2.79, 5.25)
2003	108.6	24.19	4.49 (2.58, 7.80)	74.46	16.84	4.42 (2.00, 9.78)	34.88	3.64	9.60 (1.07, 85.85)	18.83	5.19	3.63 (2.68, 4.91)
2004	114.24	26.39	4.33 (2.56, 7.33)	76.95	11.02	6.98 (2.80, 17.39)	25.68	10.71	2.40 (0.48, 11.89)	19.00	5.21	3.65 (2.71, 4.91)
2005	110.49	27.34	4.04 (2.37, 6.88)	83.73	9.52	8.80 (3.32, 23.33)	53.23	25.89	2.06 (0.69, 6.12)	19.46	4.87	4.00 (2.93, 5.46)
2006	139.54	47.00	2.97 (1.94, 4.54)	74.41	31.78	2.34 (1.22, 4.50)	61.00	25.43	2.40(0.84, 6.84)	25.69	10.49	2.45 (1.94, 3.08)
Overall IRR ^{\dagger} and <i>P</i> for trend ^{\dagger}										0.99	0.92	3.36 (2.34, 4.84)
ER-												
2001	21.28	11.11	1.92 (0.72, 5.13)	16.20	1.93	8.38 (0.94, 74.97)	9.01	3.76	2.40 (0.15, 38.36)	5.38	2.95	1.82 (1.13, 2.93)
2002	42.10	16.41	2.57 (1.21, 5.42)	7.98	11.42	0.70 (0.14, 3.46)	26.62	3.70	7.20 (0.75, 69.19)	7.68	3.62	2.12 (1.41, 3.20)
2003	31.03	21.50	1.44 (0.68, 3.05)	27.43	13.09	2.09 (0.73, 5.97)	8.72	0.00	I	689	4.46	1.55 (1.04, 2.29)
2004	22.85	9.24	2.47 (0.92, 6.64)	34.63	12.86	2.69 (1.00, 7.23)	0.00	10.71	I	6.94	3.55	1.95 (1.29, 2.95)
2005	21.05	16.41	1.28 (0.52, 3.14)	39.87	13.32	2.99 (1.14, 7.86)	53.23	11.10	4.80 (1.20, 19.19)	7.24	3.38	2.14 (1.40, 3.27)
2006	59.43	13.43	4.43 (2.11, 9.30)	47.00	13.09	3.59 (1.41, 9.12)	26.14	3.63	7.20 (0.75, 69.19)	10.49	3.50	3.00 (2.05, 4.40)
Overall IRR ^{\dagger} and <i>P</i> for trend ^{\dagger}										0.83	0.86	1.86 (1.45, 2.38)
PR+												
2001	64.14	19.44	3.30 (1.71, 6.38)	40.50	5.80	6.98 (1.92, 25.37)	45.06	7.51	6.00(1.16, 30.91)	11.73	3.28	3.57 (2.42, 5.27)
2002	47.37	16.41	2.89 (1.39, 5.99)	23.93	17.13	1.40 (0.50, 3.92)	17.75	11.10	1.60 (0.27, 9.57)	9.28	3.29	2.82 (1.89, 4.22)
2003	64.64	18.81	3.44 (1.79, 6.61)	43.11	13.09	3.29 (1.28, 8.49)	17.44	3.64	4.80 (0.44, 52.91)	12.09	4.13	2.93 (2.06, 4.16)
2004	58.39	19.79	2.95 (1.54, 5.65)	38.47	7.35	5.24 (1.64, 16.70)	8.56	10.71	$0.80\ (0.08,\ 7.69)$	11.16	3.63	3.07 (2.13, 4.44)
2005	60.51	16.41	3.69 (1.84, 7.41)	63.79	11.42	5.59 (2.19, 14.28)	62.11	25.89	2.40(0.84, 6.84)	12.38	3.63	3.41 (2.36, 4.94)
2006	116.28	30.89	3.76 (2.28, 6.22)	54.83	24.30	2.26 (1.06, 4.80)	52.29	14.53	3.60 (1.02, 12.75)	20.05	7.24	2.77 (2.11, 3.63)
Overall IRR ^{\dagger} and <i>P</i> for trend ^{\dagger}										0.97	0.99	2.29 (1.70, 3.70)
PR-												
2001	32.07	15.28	2.10 (0.93, 4.76)	32.40	7.73	4.19 (1.26, 13.91)	18.02	3.76	4.80 (0.44, 52.92)	7.98	4.13	1.93 (1.30, 2.87)
2002	52.63	17.78	2.96 (1.47, 5.95)	19.94	13.33	1.50(0.47, 4.71)	35.50	0.00	,	8.48	3.78	2.24 (1.51, 3.33)
2003	54.30	21.50	2.53 (1.32, 4.84)	31.35	13.09	2.39 (0.87, 6.60)	8.72	0.00		8.27	4.46	1.85 (1.27, 2.70)
2004	27.92	3.96	7.06 (1.97, 25.29)	26.93	11.02	2.44 (0.82, 7.27)	0.00	7.14	0.00	6.64	3.32	2.00 (1.31, 3.05)
2005	36.83	15.04	2.45 (1.11, 5.39)	35.88	9.52	3.77 (1.26, 11.25)	35.49	11.10	3.20 (0.72, 14.29)	6.76	3.22	2.10 (1.36, 3.25)
2006	41.34	13.43	3.08 (1.40, 6.78)	47.00	9.35	5.03 (1.77, 14.27)	17.43	3.63	4.80 (0.44, 52.91)	9.24	3.41	2.71 (1.82, 4.02)
Overall IRR ^{\dagger} and <i>P</i> for trend ^{\dagger}										06.0	0.80	1.89 (1.60, 2.24)

🖄 Springer

Years	Urban–rur	al incident	ce and inc	sidence ra	tios									
	Age-grouf	os (Years)												
	0–29					30–39					40-49			
	Urban	Rural	Urbi	an-rural I	RR (95% CI)	Urban	Rura	al Urban–rura	I IRR (95%	cI)	Urban R	ural	Urban-ru	ral IRR (95% CI)
ER+/PR+														
2001	0.00	0.12	0.0	0		15.22	3.51	4.33 (1.65	, 11.40)		23.67 11	00.1	2.15 (1.0	4, 4.47)
2002	0.00	0.24	0.0	0		10.38	1.73	6.00 (1.62	, 22.16)		27.68	5.83	4.75 (2.0	0, 11.29)
2003	0.86	0.12	7.21	(0.75, 69	(53)	9.06	6.80	1.33 (0.55	, 3.26)		37.22 11	1.46	3.25 (1.7	0, 6.22)
2004	0.00	0.23	0.0	0		7.79	5.00	1.56 (0.58	, 4.18)		42.16 1(.45	4.04 (2.1	1, 7.74)
2005	0.55	0.12	4.80	0.44, 52	(66.3	12.04	0.55	22.00 (2.84	, 170.41)		11.99	80.1	1.62 (0.7	6, 3.46)
2006	0.54	0.23	2.40	0.34, 17	7.05)	11.83	6.99	1.69 (0.76	, 3.78)		55.72 23	3.31	2.39 (1.4	9, 3.83)
ER-/PR-														
2001	0.59	0.12	4.80	0.44, 52	(66.2	4.68	3.51	1.33 (0.38	, 4.73)		14.79 15	5.23	0.97 (0.4	5, 2.10)
2002	0.29	0.36	0.80	0.08, 7.	70)	10.38	6.34	1.64 (0.68	, 3.95)		14.57	5.00	2.91 (1.0	6, 8.02)
2003	0.57	0.12	4.80	0.44, 52	(66.2	6.80	6.80	1.00 (0.38	, 2.66)		14.31 13	3.10	1.09 (0.5	0, 2.41)
2004	0.28	0.35	0.80	0.08, 7.	70)	6.67	3.89	1.71 (0.58	, 5.10)		19.67 13	3.66	1.44 (0.7	1, 2.92)
2005	0.28	0.12	2.40	0.15, 35	3.41)	4.38	2.74	1.60 (0.43	, 5.96)		69.6	7.91	1.22 (0.4	9, 3.22)
2006	0.00	00.00		I		3.23	2.15	1.50 (0.34	, 6.70)		17.67 10	0.10	1.75 (0.8	1, 3.77)
Years			Urban–ri	ural incid	ence and incidence	ratios						Overall		
			Age-gro	ups (year:	()									
			50-59			69-09			+0/					
			Urban	Rural	Urban-rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)	Urban	Rural	Urban–rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)
ER+/ER+														
2001			64.14	18.05	3.55 (1.81, 6.98)	36.45	5.80	6.28 (1.70, 23,21)	45.06	7.51	6.00 (1.16, 30.91)	10.91	3.20	3.41 (2.29, 5.08)
2002			39.47	15.04	2.62 (1.21, 5.71)	23.93	17.13	1.40 (0.50, 3.92)	17.75	11.10	1.60 (0.27, 9.57)	8.16	2.88	2.84 (1.84, 4.36)
2003			62.06	14.78	4.20 (2.06, 8.57)	35.27	13.09	2.69 (1.00, 7.23)	17.44	3.64	4.80 (0.44, 52.91)	11.02	3.73	2.96 (2.04, 4.28)
2004			58.39	15.83	3.69 (1.84, 7.41)	34.63	5.51	6.28 (1.70, 23.22)	8.56	7.14	1.20 (0.11, 13.23)	10.56	3.24	3.26 (2.22, 4.80)
2005			57.48	14.29	4.02 (1.96, 8.25)	49.24	7.23	6.81 (2.22, 20.88)	42.14	24.59	1.71 (0.54, 5.40)	10.78	3.13	3.44 (2.31, 5.12)
2006			90.83	26.79	3.39 (1.98, 5.79)	48.37	19.54	2.48 (1.11, 5.53)	41.39	13.80	3.00 (0.81, 11.17)	17.07	6.59	2.59 (1.94, 3.46)
Overall II	RR^{\dagger} and P for	or trend [†]										0.96	0.99	2.33 (1.68, 3.23)

Table 5 Urban-rural incidence rates* and incidence ratios of breast cancer by joint ER/PR status, by age-groups and overall in Gharbiah, 2001–2006*

🖄 Springer

Years	Urban-	rural inc	idence and incidence	ratios						Overall		
	Age-gr	oups (ye:	ars)									
	50-59			69-09			+0+					
	Urban	Rural	Urban-rural IRR (95% CI)	Urban	Rural	Urban–rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)	Urban	Rural	Urban-rural IRR (95% CI)
ER-/PR-												
2001	16.03	8.33	1.92 (0.62, 5.97)	12.15	1.93	6.28 (0.65, 60.42)	0.00	3.76	0.00	4.07	2.78	1.47 (0.87, 2.46)
2002	28.95	13.68	2.12 (0.90, 4.98)	7.98	11.42	0.70 (0.14, 3.46)	26.62	0.00	I	5.76	2.96	1.95 (1.23, 3.09)
2003	28.44	17.47	1.63 (0.73, 3.63)	15.68	11.22	1.40 (0.39, 4.95)	8.72	0.00	I	5.20	3.89	1.34 (0.86, 2.08)
2004	20.31	2.64	7.70 (1.63, 36.25)	23.08	9.18	2.51 (0.77, 8.24)	0.00	7.14	0.00	5.43	2.84	1.91 (1.20, 3.03)
2005	17.49	14.29	1.22 (0.47, 3.16)	26.51	9.04	2.93 (0.93, 9.24)	33.72	10.54	3.20 (0.72, 14.29)	4.83	2.89	1.67 (1.03, 2.72)
2006	29.46	7.65	3.85 (1.44, 10.25)	37.21	5.33	6.98 (1.92, 25.37)	8.28	0.00	I	6.11	2.11	2.89 (1.76, 4.75)
Overall IRR ^{\dagger} and <i>P</i> for trend ^{\dagger}										0.81	0.76	1.72 (1.28, 2.32)
*All incidences are per 100,000 wc	omen											
[†] Adjusted for age, stage and year	of diagne	osis										

ER+/PR- and ER-/PR+ categories had too few cases and were excluded from this analysis

in other populations [15, 16]. Thus, other risk factors such as xenoestrogens might play an important role in increasing ER+ cancer in cities. Women in urban areas are prone to using more plastics and electrical appliances, household insecticides, detergents, cosmetics, etc. There have been multiple studies from various parts of the world that clearly demonstrate the higher presence and exposure to xenoestrogens in urban areas [26-30]. Our group showed in a previous study that urban women also have higher levels of 7,8-dihydro-8-oxo-2'-deoxyguanosine (8-oxo-dG) indicating higher DNA damage and thus higher exposure to carcinogens [38]. Since xenoestrogens have estrogenic effects and have been shown to be related to ER + cancer [19-21], all the above exposures lead to higher incidence of breast cancer and ER+ cancer in urban areas. That apart, within rural areas incidence of breast cancer is almost similar for all HRS, a pattern more pronounced in the age-specific incidence. This demonstrates that exposure to estrogenic and non-estrogenic risk factors are quite similar in rural areas while in urban areas exposure to estrogenic factors is higher.

ER status of breast cancer is also related to the period in women's life when they are exposed to various risk factors and these insights follow from studies into breast development and stem cell research. There are three critical periods in the development of mammary glands: the intrauterine period especially just before birth, the peripubertal period, and the period of pregnancy and lactation [39]. Research into mammary stem cells, which are now considered to be the origin of breast cancer [40-43], shows that during the intrauterine period all stem cells which are the progenitor stem cells, are ER- [44, 45]. Postnatally these ER- stem cells differentiate into ER+ cells which later form mammary glands during puberty under the influence of estrogen [44]. It is quite possible that early life exposures during the intrauterine period or around birth affect the progenitor stem cells which at that time are predominantly ER- which would then lead to ER- cancer in younger ages. Exposure to xenoestrogens in early life is quite plausible in the light of studies showing excretion of xenoestrogens in human milk in Egypt [46] and across the world [47, 48]. However, progenitor stem cells are few in number and quite hardy and resistant to mutations [49] and as such in populations exposed to estrogenic risk factors early in life-endogenous or exogenous-ER- cancer will be higher than in unexposed populations but still lower than ER+ cancer within the same exposed population. ER+ cancer must be higher in exposed populations because ER+ stem cells are more numerous later in life and are less resistant to mutations [49]. This explains the higher incidence of breast cancer later in life after menopause in exposed or urban populations when the ER+ stem cells accumulate maximum number of mutations according to the multi-hit theory of carcinogenesis (which indicates **Fig. 1** Age-specific urban–rural incidence of breast cancer by hormone receptor status in Gharbiah, 2001–2006. All incidences are per 100,000 women. There are 6 age-groups: 0–29, 30–39, 40–49, 50–59, 60–69, and 70 or more, each represented by a point on the *graph* for each year in that sequence

Fig. 2 Age-specific urban-rural incidence of breast cancer by joint hormone receptor status in Gharbiah, 2001–2006. All incidences are per 100,000 women. There are 6 age-groups: 0–29, 30–39, 40–49, 50–59, 60–69, and 70 or more, each represented by a point on the *graph* for each year in that sequence. ER+/PR- and ER-/PR+ categories had very few cases and were excluded from this *graph*

that a normal cell must be subjected to multiple "hits" or exposures which result in multiple mutations over time in genes regulating cell growth, eventually resulting in uncontrolled cell growth and tumor formation). This also explains the fact that urban women are more exposed to xenoestrogens throughout life and thus have higher incidence of both ER+ and ER- cancer.

PR expression is under the control of ER expression [50] and thus the pattern of PR expression closely follows ER expression. However, not all ER+ tumors express PR and thus PR+ incidence is lower than ER+ incidence. Also, since some ER+ tumors are PR-, PR- incidence must be slightly higher or similar to ER- incidence, a pattern seen clearly in Gharbiah. Breast cancer incidence by joint HRS can also be explained due to above reason since ER+/PR+ incidence is the highest followed by ER-/PR- incidence. ER+/PR- incidence is next since some ER+ tumors don't



express PR. ER-/PR+ incidence is the lowest since in the absence of ER expression PR expression is very unlikely. Age-specific incidence by joint HRS was limited to ER+/PR+ and ER-/PR- cancer since the number of cases in other two joint hormone receptor categories was too low for some age-groups. ER+/PR+ cancer has the highest incidence for most age-groups within urban areas and also when compared with rural areas. Within rural areas incidence of ER+/PR+ and ER-/PR- cancer is similar for most age-groups in all years which again clearly shows that estrogenic and non-estrogenic exposures are almost similar in rural areas.

One of the main limitations of this study is the absence of HRS information for all the cases for the 6-year period. It can be seen that the incidence of cases with unknown HRS has remained almost similar across the years with decrease in 2006 since we had information on more number of cases for this year. Still this did not affect the urban-rural differences of breast cancer by HRS in 2006 substantially. We also compared cases with known HRS and unknown HRS and cases from entire Gharbiah based on important baseline factors like urban-rural distribution, age and AJCC stage and found the three categories of cases to be similar to each other in these distributions. Also, a number of cases with missing HRS information were diagnosed by FNAC and many of these cases were having metastatic disease (Stage 4) which is more likely to be rural and ER-. Detection of HRS of such cases would increase ER- incidence in rural areas which will not affect ER+ incidence in urban areas. Thus, it is unlikely that absence of HRS information affected our findings in this study.

Another confounder could be the difference of HRS determination among pathology laboratories in Gharbiah. However, HRS determination started routinely in 2001 when HRS determination methods had become quite standard across the world. Also, in Gharbiah there are only a handful of pathology laboratories that conduct HRS determination and they import their antibodies from a single vendor. We obtained details of the procedure from various laboratories and determined that HRS determination was similar for all sites since 2001. In addition, patients get the tumor slides examined by multiple laboratories for second opinion and the registry routinely compares data across pathology laboratories for consistency. Thus, it is unlikely that differences in HRS determination methods will affect our findings [14]. In addition, if any differences exist, they are more related to classifying the degree of positivity and not regarding classifying tumors as positive and negative. Since we have based our analysis in this paper on classifying tumors into positive or negative, the effects of any subjective difference between laboratories are quite minimal.

Overall we showed that urban women have a higher incidence of ER+ incidence than rural women and xenoestrogens might be a significant cause of this in developed countries and urban areas of developing countries. The pattern of distribution of HRS in urban and rural areas also points towards probable timing of exposure to xenoestrogens. Although we did not have information on xenoestrogen exposure at the individual level, we have already planned a study in near future looking at urbanrural differences in urine levels of xenoestrogens in peripubertal females. We also need future studies investigating correlations of xenoestrogen exposure with HRS, examining the molecular mechanisms by which xenoestrogens lead to ER+ cancer, and the role of mammary stem cells which might hold important clues regarding critical periods of exposure and better ways of prevention and treatment of breast cancer.

Acknowledgments We are grateful to Dr. Hoda Gad, Mr. Khaled Daboos and other personnel of Tanta Cancer Center and Gharbiah Cancer Society for the valuable assistance they provided for this project. The authors declare that they have no commercial or other associations that might pose a conflict of interest in connection with this article. Funding This work was supported by the Middle East Cancer Consortium, National Cancer Institute, Bethesda [R25 CA112383, R03 CA117350,5 P30 CA46592], the Burroughs Wellcome Fund [SDM], and the Breast Cancer Research Foundation [SDM]. Block Grant of the Department of Epidemiology, University of Michigan School of Public Health; and the Travel Grant of the Rackham Graduate School of the University of Michigan to [S. Dey].

References

- Parkin DM, Fernandez LMG (2006) Use of statistics to assess the global burden of breast cancer. Breast J 12:S70–S80. doi: 10.1111/j.1075-122X.2006.00205.x
- Colditz GA, Rosner BA, Chen WY et al (2004) Risk factors for breast cancer according to estrogen and progesterone receptor status. J Natl Cancer Inst 96:218–228
- Chen WY, Colditz GA (2007) Risk factors and hormone-receptor status: epidemiology, risk-prediction models and treatment implications for breast cancer. Nat Clin Pract Oncol 4(7):415– 423. doi:10.1038/ncponc0851
- Hess KR, Pusztai L, Buzdar AU, Hortobagyi GN (2003) Estrogen receptors and distinct patterns of breast cancer relapse. Breast Cancer Res Treat 78(1):105–118. doi:10.1023/A:1022166517963
- Huang W, Newman B, Millikan RC, Schell MJ, Hulka BS, Moorman PG (2000) Hormone-related factors and risk of breast cancer in relation to estrogen receptor and progesterone receptor status. Am J Epidemiol 151:703–714
- Althuis MD, Fergenbaum JH, Garcia-Closas M, Brinton LA, Madigan MP, Sherman ME (2004) Etiology of hormone receptor defined breast cancer: a systematic review of the literature. Cancer Epidemiol Biomarkers Prev 13(10):1558–1568
- Manjer J, Malina J, Berglund G, Bondeson L, Garne JP, Janzon L (2001) Smoking associated with hormone receptor negative breast cancer. Int J Cancer 91:580–584. doi:10.1002/1097-0215 (200002)9999:9999
 AID-IJC1091>3.0.CO;2-V
- Bray F, McCarron P, Parkin DM (2004) The changing global patterns of female breast cancer incidence and mortality. Breast Cancer Res 6:229–239. doi:10.1186/bcr932
- Anderson WF, Chu KC, Chatterjee N, Brawley O, Brinton LA (2001) Tumor variants by hormone receptor expression in white patients with node-negative breast cancer from the surveillance, epidemiology, and end results database. J Clin Oncol 19:18–27
- Li CI, Malone KE, Daling JR (2002) Differences in breast cancer hormone receptor status and histology by race and ethnicity among women 50 years of age and older. Cancer Epidemiol Biomarkers Prev 11(7):601–607
- Chlebowski RT, Chen Z, Anderson GL et al (2005) Ethnicity and breast cancer: factors influencing differences in incidence and outcome. J Natl Cancer Inst 97:439–448
- Parkin DM, Whelan SL, Ferlay J, Teppo L, Thomas TB (eds) (2002) Cancer incidence in five continents, vol VIII. IARC Sc. Publns No.155, Lyon
- Desai SB, Moonim MT, Gill AK, Punia RS, Naresh KN, Chinoy RF (2000) Hormone receptor status of breast cancer in India: a study of 798 tumors. Breast 9:267–270. doi:10.1054/brst.2000. 0134
- Li CI, Daling JR, Malone KE (2003) Incidence of invasive breast cancer by hormone receptor status from 1992 to 1998. J Clin Oncol 21(1):28–34. doi:10.1200/JCO.2003.03.088

- Madigan MP, Zeigler RG, Benichou J, Byrne C, Hoover RN (1995) Proportion of breast cancer cases in the United States explained by well-established risk factors. J Natl Cancer Inst 87:1681–1685. doi:10.1093/jnci/87.22.1681
- Rockhill B, Weinberg CR, Newman B (1998) Population attributable fraction estimation for estimation for established breast cancer risk factors: considering the issues of high prevalence and un-modifiability. Am J Epidemiol 147:826–833
- Gray J, Evans N, Taylor B, Rizzo J, Walker M (2009) State of the evidence: the connection between breast cancer and the environment. Int J Occup Environ Health 15(1):43–78
- Brody JG, Rudel RA, Michels KB, Moysich KB, Berstein L, Attfield KR, Gray S (2007) Environmental pollutants, diet, physical activity, body size, and breast cancer. Where do we stand in research to identify opportunities for prevention? Cancer 109(Suppl 12):2627–2634. doi:10.1002/cncr.22656
- Robison AK, Sirbasku DA, Stancel GM (1985) DDT supports the growth of an estrogen-responsive tumor. Toxicol Lett 27:109– 113. doi:10.1016/0378-4274(85)90127-4
- Dewailly E, Dodin S, Verreault R et al (1994) High organochlorine body burden in women with estrogen receptor-positive breast cancer. J Natl Cancer Inst 86:232–234. doi:10.1093/jnci/ 86.3.232
- Woolcott CG, Aronson KJ, Hanna WM et al (2001) Organochlorines and breast cancer risk by receptor status, tumor size, and grade (Canada). Cancer Causes Control 12:395–404. doi:10.1023/ A:1011289905751
- Brody JG, Moysich KB, Humblet O, Attfeild KR, Beehler GP, Rudel RA (2007) Environmental pollutants and breast cancer. Cancer 109(12):2667–2711. doi:10.1002/cncr.22655
- Calafat AM, Kuklenyik Z, Reidy JA, Caudill SP, Ekong J, Needham LL (2005) Urinary concentrations of bisphenol A and 4-nonylphenol in a human reference population. Environ Health Perspect 113(4):391–395
- 24. Wittassek M, Wiesmuller GA, Koch HM et al (2007) Internal phthalate exposure over the last two decades—a retrospective human biomonitoring study. Int J Hyg Environ Health 210(3– 4):319–333. doi:10.1016/j.ijheh.2007.01.037
- 25. Gouin T, Jantunen L, Harner T, Blanchard P, Bidleman T (2007) Spatial and temporal trends of chiral organochlorine signatures in Great Lakes air using passive air samplers. Environ Sci Technol 41(11):3877–3883. doi:10.1021/es063015r
- Kitada Y, Kawahata H, Suzuki A, Oomori T (2008) Distribution of pesticides and bisphenol A in sediments collected from rivers adjacent to coral reefs. Chemosphere 71(11):2082–2090. doi: 10.1016/j.chemosphere.2008.01.025
- Zhang H, Chai Z, Sun H (2007) Human hair as a potential biomonitor for assessing persistent organic pollutants. Environ Int 33(5):685–693. doi:10.1016/j.envint.2007.02.003
- Pentamwa P, Oanh NT (2008) Levels of pesticides and polychlorinated biphenyls in selected homes in the Bangkok metropolitan region, Thailand. Ann N Y Acad Sci 1140:91–112
- Jafari A, Moeckel C, Jones KC (2008) Spatial biomonitoring of persistent organic pollutants in Iran: a study using locally produced butter. J Environ Monit 10(7):861–866. doi:10.1039/b80 2061b
- Kumari B, Singh J, Singh S, Kathpal TS (2005) Monitoring of butter and ghee (clarified butter fat) for pesticidal contamination from cotton belt of Haryana, India. Environ Monit Assess 105(1– 3):111–120. doi:10.1007/s10661-005-3159-2
- Dey S, Soliman AS, Merajver SD (2009) Xenoestrogens may be the cause of high and increasing rates of hormone receptor positive breast cancer in the world. Med Hyp 72(6):652–656
- 32. Freedman LS, Edwards BK, Ries LAG (2006) Young JL Cancer incidence in four member countries (Cyprus, Egypt, Israel, and

Jordan) of the Middle East Cancer Consortium (MECC) compared with US SEER. National Cancer Institute, US Department of Health and Human Services, National Institutes of Health, Bethesda, MD

- 33. Cancer in Egypt Gharbiah (2007) Triennial Report of 2000–2002. Gharbiah Population-Based Cancer Registry, Egypt
- 34. ERPR pharm DxTM Interpretation Manual. Dako Inc. www.dako.
- 35. CAPMAS Census Reports, 1996 and 2006
- Kelsey JL, Bernstein L (1996) Epidemiology and prevention of breast cancer. Annu Rev Public Health 17:47–67. doi:10.1146/ annurev.pu.17.050196.000403
- El-Zanaty F, Way A (2006) Egypt demographic and health survey 2005. Cairo, Egypt: ministry of health and population, national population council, El-Zanaty and Associates, and ORC Macro
- Soliman AS, Vulimiri SV, Kleiner HE et al (2004) High levels of oxidative DNA damage in lymphocyte DNA of premenopausal breast cancer patients from Egypt. Int J Environ Health Res 14(2):121–134. doi:10.1080/0960312042000209534
- Fenton SE (2006) Endocrine-disrupting compounds and mammary gland development: early exposure and later life consequences. Endocrinology 147(6):S18–S24. doi:10.1210/en.2005-1131
- Reya T, Morrison SJ, Clarke MF, Weissman IL (2001) Stem cells, cancer, and cancer stem cells. Nature 414(6859):105–111. doi:10.1038/35102167
- Marx J (2003) Cancer research. Mutant stem cells may seed cancer. Science 301(5638):1308–1310. doi:10.1126/science.301. 5638.1308
- 42. Singh SK, Clarke ID, Terasaki M et al (2003) Identification of a cancer stem cell in human brain tumors. Cancer Res 63(18): 5821–5828
- Al-Hajj M, Wicha MS, Benito-Hernandez A, Morrison SJ, Clarke MF (2003) Prospective identification of tumorigenic breast cancer cells. Proc Natl Acad Sci USA 100:3983–3988. doi:10.1073/ pnas.0530291100
- 44. Bartow SA (1998) Use of the autopsy to study ontogeny and expression of the estrogen receptor gene in human breast. J Mammary Gland Biol Neoplasia 3:37–48. doi:10.1023/A:102664 1401184
- Keeling JW, Ozere E, King G, Walker F (2000) Oestrogen receptor alpha in female fetal, infant and child mammary tissue. J Pathol 191:449–451. doi:10.1002/1096-9896(2000)9999:9999
 <::AID-PATH661>3.0.CO;2-#
- 46. Soliman AS, Wang X, DiGiovanni J et al (2003) Serum organochlorine levels and history of lactation in Egypt. Environ Res 92:110–117. doi:10.1016/S0013-9351(02)00056-7
- Solomon GM, Weiss PM (2002) Chemical contaminants in breast milk: time trends and regional variability. Environ Health Perspect 110:A339–A347
- LaKind JS, Wilkins AA, Berlin CM (2004) Environmental chemicals in human milk: a review of concentrations, determinants, infant exposures and health, and guidance for future research. Toxicol Appl Pharmacol 198:184–208. doi:10.1016/j. taap.2003.08.021
- Dontu G, El-Ashry D, Wicha MS (2004) Breast cancer, stem/ progenitor cells and the estrogen receptor. Trends Endocrinol Metab 15(5):193–197. doi:10.1016/j.tem.2004.05.011
- Ciocca DR, Gago FE, Fanelli MA, Calderwood SK (2006) Coexpression of steroid receptors (estrogen receptor alpha and/or progesterone receptors) and Her-2/neu: Clinical implications. J Steroid Biochem Mol Biol 102:32–40. doi:10.1016/j.jsbmb.2006. 09.008